Impedance looking into 100 KHz audio low pass with 50 ohms in series with 22 nF capacitor. Bottom axis starts at 50 KHz, with 35 KHz per division so sweep is to 400 KHz. Vertical scale 40 ohms to 80 ohms.
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VSWR over same frequency range. Vertical scale is 1.8 at top and  1.0 at bottom
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The equivalent return loss is just over 10dB at worst, 20dB at 350 KHz, dropping rapidly to -40 dB as shown below. First plot is as above 50 – 400 KHz, second is  50 KHz to 60 MHz, top is 0dB, 10dB per division in both cases.
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This is the return loss looking into the RF amplifier from 50 KHz, 5MHz per division. 0dB at top, 10 dB per division. 
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The VSWR over this range is as shown (1.8 at top, 1.0 at bottom).  Less than 1.5 at 5MHz, dropping to 1.1.

[image: image6.png]




This is the simulated performance of 100 KHz low pass filter
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Equivalent circuit of ow pass filters with typical losses for real inductors
[image: image8.emf]L2


100u


C2


2.1p


R2


8


L3


100u


C3


2.1p


R3


8


C5


22n


C6


47n


C7


22n


R4


50


R5


50


R6


50


V1


1


2


3


4


5


6


7




L2

100u

C2

2.1p

R2

8

L3

100u

C3

2.1p

R3

8

C5

22n

C6

47n

C7

22n

R4

50

R5

50

R6

50

V1

1 2 3 4 5

6

7


